MATHZIZI - Lecture # 19

- Outline:
  - Final properties of eigenvalues, Jiagonglization
    Introduction to inner products orthogonalts

# $tr( \begin{bmatrix} ab \\ cd \end{bmatrix}) = at d$ $tr( \begin{bmatrix} ab \\ cd \end{bmatrix}) = ad -bc$

 $tr(A) = +(A^T)$ 

det(A)

### 1 Last time: properties of eigenvalues

The *trace* of a square matrix A is the sum of its diagonal entries.

We denote this by  $\operatorname{tr}(A)$ . For  $2 \times 2$  matrices we have  $\operatorname{tr}\left( \begin{bmatrix} a & b \\ c & d \end{bmatrix} \right) = a + d$ .

Suppose A and B are  $n \times n$  matrices. In general  $tr(AB) \neq tr(A)tr(B)$ , but

 $\operatorname{tr}(AB) = \operatorname{tr}(BA)$  and  $\operatorname{det}(AB) = \operatorname{det}(A) \operatorname{det}(B) = \operatorname{det}(B) \operatorname{det}(A) = \operatorname{det}(BA).$ 

Let A be an  $n \times n$  matrix and write I for the  $n \times n$  identity matrix.

The fundamental theorem of algebra says there are numbers  $\lambda_1, \lambda_2, \ldots, \lambda_n \in \mathbb{C}$  such that  $\det(A - xI) = (\lambda_1 - x)(\lambda_2 - x) \cdots (\lambda_n - x)$ .

= tr(B(A)) = tr(CAB)

**Theorem.** It holds that  $det(A) = \lambda_1 \lambda_2 \cdots \lambda_n$  and  $tr(A) = \lambda_1 + \lambda_2 + \cdots + \lambda_n$ .

repeat according to exponent of (1-x) in det(A-xI)

The product of the eigenvalues of A, repeated with multiplicity, is the determinant of A, while the sum of the eigenvalues is the trace of A.

For example if  $A = \begin{bmatrix} \lambda_1 & a & b \\ 0 & \lambda_2 & c \\ 0 & 0 & \lambda_3 \end{bmatrix}$  then  $\det(A - xI) = (\lambda_1 - x)(\lambda_2 - x)(\lambda_3 - x) \text{ and } \operatorname{tr} A = \lambda_1 + \lambda_2 + \lambda_3 \text{ and } \det A = \lambda_1 \lambda_2 \lambda_3.$ 

A is upper 
$$\Delta_1$$
 so:  
(i)  $dat A = \lambda_1 \lambda_1 \lambda_3$  (product of drag)  
(i)  $dr A = \lambda_1 \lambda_1 \lambda_3$  (product of drag)  
(i)  $dr A = \lambda_1 + \lambda_1 + \lambda_3$  (sum of drag)  
(i)  $dr A = \lambda_1 + \lambda_1 + \lambda_3$  (sum of drag)  
(i)  $dr A = \lambda_1 + \lambda_1 + \lambda_3$  (sum of drag)

as we have A and AT hole same Characteristic polynomial 3  $det(M) = det(M^T)$ 

Assume A is a square matrix.

A few other properties of eigenvalues and eigenvectors worth noting:

**Proposition.** A and  $A^{\top}$  have the same eigenvalues.

Proof. Since  $\det(A - xI) = \det((A - xI)^{\top}) = \det(A^{\top} - xI^{\top}) = \det(A^{\top} - xI)$ .  $\Box$ 

**Proposition.** A is invertible if and only if 0 is not one of its eigenvalues.

*Proof.* 0 is an eigenvalue of A if and only if det A = 0.

 $\square$ 





Just defined length of 
$$v = \begin{bmatrix} v_1 \\ v_2 \\ \vdots \\ v_n \end{bmatrix} \in \mathbb{R}^n$$
 to be  
 $\|v\| \stackrel{\text{def}}{=} \sqrt{v_0 v} = \sqrt{v_1^2 + v_2^2 + \dots + v_n^2} \ge 0$ 

This Jefinition matches the physical notion of length at least in 2 or 3 dimensions by pythagarcan thm:

$$\frac{1}{\sqrt{2}} = \begin{bmatrix} \frac{1}{2} \\ \frac{1}{2} \\$$

$$\left( \begin{array}{c} \left( \begin{array}{c} \\ \\ \\ \end{array} \right) \left( \begin{array}{c} \end{array} \right) \left( \end{array} \right) \left( \begin{array}{c} \end{array} \right) \left( \end{array} \right) \left( \end{array} \right) \left( \begin{array}{c} \end{array} \right) \left( \end{array} \right) \left($$

Why does 
$$||cv|| = |c|||v||?$$
  
 $||cv|| \stackrel{del}{=} \sqrt{(cv) \cdot (v)} = \sqrt{c(v \cdot (cv))}$   
 $||cv|| \stackrel{del}{=} \sqrt{(cv) \cdot (v)} = \sqrt{c(v \cdot (cv))}$   
 $\stackrel{(a)}{=} \sqrt{c((cv) \cdot v)}$   
 $\stackrel{(b)}{=} \sqrt{c^2(v \cdot v)}$   
 $\stackrel{(c)}{=} \sqrt{c^2(v \cdot v)}$   
 $\stackrel{(c)}{=} \sqrt{c^2(v \cdot v)}$   
 $= \sqrt{c^2 \sqrt{v \cdot v}}$   
 $= |c|||v||$ 



Definition. Two vectors  $u, v \in \mathbb{R}^n$  are orthogonal if  $u \cdot v = 0$ . When u and v are orthogonal we also say that "u is orthogonal to v."

**Proposition.** Suppose  $u, v \in \mathbb{R}^2$  are nonzero vectors that are orthogonal to each other, so that  $u \bullet v = 0$ . Then u and v, drawn as arrows in the *xy*-plane, belong to perpendicular lines through the origin.

In other words, these vectors are perpendicular in the usual sense of planar geometry.

If  $u, v \in \mathbb{R}^2$  are orthogonal and  $0 \neq u = \begin{bmatrix} a \\ b \end{bmatrix}$ , then v is a scalar multiple  $\begin{bmatrix} -b \\ a \end{bmatrix}$ , which is the vector obtained by rotating u counterclockwise by 90 degrees.

*Proof.* This follows directly from the identity  $u \bullet v = ||u|| ||v|| \cos \theta$ , which implies that  $u \bullet v = 0$  if and only if the angle  $\theta$  between u and v is  $\pm \frac{\pi}{2}$ .  $\Box$ 



#### **3** Orthogonal complements

Let  $V \subseteq \mathbb{R}^n$  be a subspace. The *orthogonal complement* of V is

$$V^{\perp} = \{ w \in \mathbb{R}^n : v \bullet w = 0 \text{ for all } v \in V \}.$$

set of all vectors Impt are orthogonal to all elements of V

We pronounce " $V^{\perp}$ " as "vee perp."

**Proposition.** If  $V \subseteq \mathbb{R}^n$  is a subspace then  $V^{\perp} \subseteq \mathbb{R}^n$  is also a subspace.

**check**  *Proof.* Since  $v \cdot 0 = 0$  for all  $v \in \mathbb{R}^n$  it holds that  $0 \in V^{\perp}$ . So  $V^{\perp}$  is nonempty. If  $x, y \in V^{\perp}$  and  $c \in \mathbb{R}$  then  $v \cdot cx = c(v \cdot x) = 0$  and  $v \cdot (x + y) = v \cdot x + v \cdot y = 0 + 0 = 0$ for all  $v \in V$  so cx and x + y both belong to  $V^{\perp}$ . Hence  $V^{\perp}$  is a subspace.

Ex Suppose 
$$n=2$$
 always zero, no matter vis  

$$\left\{ \begin{bmatrix} 0 \end{bmatrix}^{\perp} & det \\ v \in \mathbb{R}^{2} \\ \end{bmatrix} \begin{bmatrix} 0 \end{bmatrix}^{\perp} \begin{bmatrix} 0 \\ v \in \mathbb{R}^{2} \\ \end{bmatrix} \begin{bmatrix} 0 \\ 0 \end{bmatrix}^{\perp} \begin{bmatrix} 0 \\ v \in \mathbb{R}^{2} \\ v \in \mathbb{R}^{2} \end{bmatrix} \begin{bmatrix} 0 \\ v = 0 \end{bmatrix} = \mathbb{R}^{2}$$

$$\left( \begin{bmatrix} 2 \\ 2 \\ v \end{bmatrix}^{\perp} \\ det \\ v \in \mathbb{R}^{2} \end{bmatrix} \\ \begin{bmatrix} 0 \\ v \in \mathbb{R}^{2} \\ v = 0 \end{bmatrix} \\ \text{we get } v \cdot v = 0 \text{ so } v = \begin{bmatrix} 0 \\ 0 \end{bmatrix} \right]$$
Suppose  $\begin{bmatrix} 0 \\ 0 \end{bmatrix}^{\perp} \\ det \\ \begin{bmatrix} 0 \\ 0 \end{bmatrix} \end{bmatrix} \\ det \\ v \in \mathbb{R}^{2} \\ v \in \mathbb{R}^{2} \end{bmatrix} \\ v \circ c \begin{bmatrix} 0 \\ 1 \end{bmatrix} = 0 \text{ for all } ce\mathbb{R} \\ end \\$ 

The operation  $(\cdot)^{\perp}$  relates the column space, null space, and transpose of a matrix: **Theorem.** Suppose A is an  $m \times n$  matrix. Then  $(\operatorname{Col} A)^{\perp} = \operatorname{Nul}(A^{\top}) \subseteq \mathbb{R}^m$ . *Proof.* Write  $A = \begin{bmatrix} a_1 & a_2 & \dots & a_n \end{bmatrix}$  where  $a_i \in \mathbb{R}^m$ . Let  $v \in \mathbb{R}^m$ . If  $v \in (\operatorname{Col} A)^{\perp}$  then we must have  $v \bullet a_i = a_i^{\top} v = 0$  for all *i*. Conversely, if  $v \bullet a_i = a_i^{\top} v = 0$  for all *i* then  $(c_1a_1 + c_2a_2 + \dots + c_na_n) \bullet v = c_1(\underbrace{a_1 \bullet v}_{=0}) + c_2(\underbrace{a_2 \bullet v}_{=0}) + \dots + c_n(\underbrace{a_n \bullet v}_{=0}) = 0$ for any scalars  $c_1, c_2, \ldots, c_n \in \mathbb{R}$  so  $v \in (\operatorname{Col} A)^{\perp}$ . Thus  $v \in (\operatorname{Col} A)^{\perp}$  if and only if  $v \bullet a_i = a_i^{\top} v = 0$  for all *i*. This holds iff  $A^{\top} v = 0$ . if A = [01 92 ... ] then: i ex = 0 for all i de) x is orthogonal to  $(x \in Nul(A^T))$ ( A (26 (a))

# Consequence: how to find a basis for V<sup>1</sup>?

() express V = ColA for some matrix A 3 find a basis for NULLAT) by usual algorithm. Haw to find A in step 0? find a has  $v_{11}v_{21} - v_{11}v_{11}v_{22} - v_{11}v_{11}v_{22} + v_{11}v_{12}v_{22}v_$ 

### only vector in both V and VI is zero vector **Lemma.** Let $V \subseteq \mathbb{R}^n$ be a subspace. If $w \in V \cap V^{\perp}$ then w = 0.

*Proof.* If  $w \in V$  and  $w \in V^{\perp}$  then  $w \bullet w = 0$  so w = 0.

**Proposition.** Let  $V \subseteq \mathbb{R}^n$  be a subspace. If  $S \subseteq V$  and  $T \subseteq V^{\perp}$  are two sets of linearly independent vectors, then  $S \cup T$  is also linearly independent.

See the lecture notes for a proof. Key idea: if you had a linear dependence among the vectors in  $S \cup T$ , then some nonzero linear combination of vectors in S would be equal to some nonzero linear combination of vectors in T.

These equal linear combinations would give a nonzero vector in both V and  $V^{\perp}$ .

But this is impossible since we just saw that  $V \cap V^{\perp} = \{0\}$ .

When S and T are bases for V and  $V^{\perp}$ , the previous proposition tells us that  $S \cup T$  is a set of linearly independent vectors in  $\mathbb{R}^n$  of size dim  $V + \dim V^{\perp}$ . Hence:



#### 4 Orthogonal bases and orthogonal projections

The following proposition is called the *Generalized Pythagorean theorem*.

**Proposition.** Two vectors  $u, v \in \mathbb{R}^n$  are orthogonal if and only if  $\|u+v\|^2 = \|u\|^2 + \|v\|^2$ .

*Proof.* The proof is just a little algebra:

 $\begin{aligned} \|u+v\|^2 &= (u+v) \bullet (u+v) \\ &= u \bullet (u+v) + v \bullet (u+v) \\ &= u \bullet u + u \bullet v + v \bullet u + v \bullet v = \|u\|^2 + \|v\|^2 + 2(u \bullet v). \end{aligned}$ 

Then  $||u + v||^2 = ||u||^2 + ||v||^2$  if and only if  $u \bullet v = 0$ .

The equivalence of this proposition to the classical Pythagorean theorem boils down to observation that orthogonal vectors in  $\mathbb{R}^2$  form the sides of a right triangle.  $\Box$ 

discuss more next hime

s if all pairs in list are orthogonal Vectors  $u_1, u_2, \ldots, u_p \in \mathbb{R}^n$  are *orthogonal* if  $u_i \bullet u_j = 0$  whenever  $1 \le i < j \le p$ . An orthogonal basis of  $\mathbb{R}^n$  is a basis in which any two vectors are orthogonal. For example, the standard basis  $e_1, e_2, \ldots, e_n$  is an orthogonal basis for  $\mathbb{R}^n$ . **Theorem.** Suppose the vectors  $u_1, u_2, \ldots, u_p \in \mathbb{R}^n$  are orthogonal and all nonzero. Then  $u_1, u_2, \ldots, u_p$  are linearly independent. *Proof.* Suppose  $c_1u_1 + c_2u_2 + \cdots + c_pu_p = 0$  for some coefficients  $c_1, c_2, \ldots, c_p \in \mathbb{R}$ . For each  $i = 1, 2, \ldots, p$ , we then have  $0 = (c_1u_1 + c_2u_2 + \dots + c_pu_p) \bullet u_i = c_1(u_1 \bullet u_i) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + c_2(u_2 \bullet u_i) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + c_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(u_p \bullet u_i) = c_i ||u_i||^2 \Rightarrow C_1(U_1 \bullet U_1) + \dots + C_p(U_1 \bullet U_1) + \dots +$ since  $u_j \bullet u_i = 0$  if  $i \neq j$ . But since  $u_i$  is nonzero,  $||u_i||^2 \neq 0$ , so it must hold that  $c_i = 0$ . As this applies to each index *i*, we deduce that  $c_1 = c_2 = \cdots = c_p = 0$ . the orthogonal vector, (an recover coeffs in any linear comb. by taking mor products

Corollary. Any nonzero, orthogonal vectors are an orthogonal basis for the subspace they span. (as they are independent by the)

**Corollary.** Any *n* nonzero, orthogonal vectors in  $\mathbb{R}^n$  are an orthogonal basis for  $\mathbb{R}^n$ .

**Proposition.** Suppose  $u_1, u_2, \ldots, u_p$  is an orthogonal basis for a subspace  $V \subseteq \mathbb{R}^n$ . Let  $y \in V$ . Then we can write  $y = c_1u_1 + c_2u_2 + \cdots + c_pu_p$  where

$$c_i = \frac{y \bullet u_i}{u_i \bullet u_i} = \frac{y \bullet u_i}{\|u_i\|^2}.$$

*Proof.* A basis must span V, so  $y = c_1u_1 + c_2u_2 + \cdots + c_pu_p$  for some  $c_1, c_2, \ldots, c_p \in \mathbb{R}$ . Since  $y \bullet u_i = c_i(u_i \bullet u_i)$  for each  $i = 1, 2, \ldots, p$ , the result follows.

in prev proof

**Example.** Suppose 
$$u_1 = \begin{bmatrix} 3\\1\\1 \end{bmatrix}$$
 and  $u_2 = \begin{bmatrix} -1\\2\\1 \end{bmatrix}$  and  $u_3 = \begin{bmatrix} -1/2\\-2\\7/2 \end{bmatrix}$ .

You can check that these three vectors are orthogonal.

For example,  $u_1 \bullet u_3 = -3/2 - 2 + 7/2 = 0$ .

The vectors are therefore linearly independent, so are an orthogonal basis for  $\mathbb{R}^3$ .

For 
$$y = \begin{bmatrix} 6\\1\\8 \end{bmatrix}$$
 we have  $y \bullet u_1 = 11$  and  $y \bullet u_2 = -12$  and  $y \bullet u_3 = -33$ .

We also have  $u_1 \bullet u_1 = 11$  and  $u_2 \bullet u_2 = 6$  and  $u_3 \bullet u_3 = 33/2$ .

Therefore  $y = u_1 - 2u_2 - 2u_3$ .

Let  $u \in \mathbb{R}^n$  be a nonzero vector. Suppose  $y \in \mathbb{R}^n$  is any vector.

**Definition.** The *orthogonal projection* of y onto u is the vector  $\widehat{y} = \frac{y \bullet u}{u \bullet u}u$ .

The component of y orthogonal to u is the vector  $z = y - \hat{y} = y - \frac{y \bullet u}{u \bullet u}u$ .

It always holds that  $y = \hat{y} + z$ . As its name suggests, we have  $z \bullet u = 0$  since

$$z \bullet u = y \bullet u - \frac{y \bullet u}{u \bullet u} u \bullet u = y \bullet u - y \bullet u = 0.$$

**Observation.**  $\hat{y}$  and z do not change if u is replaced by a nonzero scalar multiple: if we change u to cu for some  $0 \neq c \in \mathbb{R}$  then all the factors of c cancel:

$$\frac{y \bullet cu}{cu \bullet cu} cu = \frac{c(y \bullet u)}{c^2(u \bullet u)} cu = \frac{y \bullet u}{u \bullet u} u = \widehat{y}.$$

Let  $L = \mathbb{R}$ -span $\{u\}$ . Then  $\widehat{y}$  and z may also be called the *orthogonal projection* of y onto L the *component* of y orthogonal to L. We will write  $proj_L(y) = \widehat{y} \in L$ .

In  $\mathbb{R}^2$ , the distance from a point (x, y) to a line  $L = \mathbb{R}$ -span $\{u\}$  is the length

$$\left\| \left[ \begin{array}{c} x \\ y \end{array} \right] - \operatorname{proj}_{L} \left( \left[ \begin{array}{c} x \\ y \end{array} \right] \right) \right\|.$$

**Example.** To find the distance from the point (x, y) = (7, 6) to the line *L* defined by  $y = \frac{1}{2}x$ , note that *L* contains the vector  $u = \begin{bmatrix} 4 \\ 2 \end{bmatrix}$ . Let  $w = \begin{bmatrix} 7 \\ 6 \end{bmatrix}$ . Then

$$\operatorname{proj}_{L}\left(\left[\begin{array}{c}7\\6\end{array}\right]\right) = \frac{w \bullet u}{u \bullet u}u = \frac{28+12}{16+4}u = \frac{40}{20}u = \left[\begin{array}{c}8\\4\end{array}\right]$$

so the distance is

$$\left\| \begin{bmatrix} 7\\6 \end{bmatrix} - \begin{bmatrix} 8\\4 \end{bmatrix} \right\| = \left\| \begin{bmatrix} -1\\2 \end{bmatrix} \right\| = \sqrt{1+4} = \sqrt{5}$$